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Question Paper Code : C 1322

/B Tech, DEGR]

EXAMINATION, APRILMAY 2010
Fourth Semescer
Eleetrical and Electronics Engincering

1C 1251 — CONTROL SYSTEMS

(Common to Instrumentation and Control Engineering and also common to
fth semester Electronics and Instrurmentation Engincering)

(Regulation 2001)
(Common to BT, (Part-Titme) Third Sermester Regulation 2005)

Maximun : 100 marks

Answer ALL questions.

PART A — (10 %2 = 20 marks)

1D

e open Loop and closed loop systern.
Whal are the important features of feedback?
5 Define Rise lime.

4 Define masimum (peak) Overshoot, Mp.

Define Resonant frequency

Define et off Rate.

are the necessary conditions for stability?
5. Mention the applications of Root Locus
9. What are the characteristies of Lead notswork?
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Determine the transfor function
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of the system show in Fig. (1)

ig. 1
o

Write the differential equations governing the mechanical ratational

csstom showenin Fig () and deteramine the transfer function
()

e rrrrrners /7/Tr771r/>w77rrz/r//j
Fig 2
A systom has G(S)=Kls(L+T)] with unity feedback when K and T e

constant. Determrine the factor by which I should be multiplied to reduce
the ovezshaot from 85% Lo 35%.

or

Given GIS)= - for unity feedback system, find
B

@ Error series for input r(t)
(i) Stendy state error for step, ramp and aceeleration input.
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Consider wnity feedback  system  having an open loop if

k
oo g Sketeh polar plo and determmine the value of
S(1+0.25) (170.055) “eteh polar plot

K 50 (1) GBis 18 (if) PM = 60deg.

Sketeh the raot locus for the syater
K(S+3) +3
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or

For the system given, drasw the Nyquist plot and hence calealate the
range of values of k for stability

G(S:‘H(S7:5(w])\/w2)

x

e Desion & lead
Si02s)
compensator to meet. tho folloving specifiations. Acceleration crror
constant K, =10

Phase margin = 35°

A unity feedback system sas LT GF(5)=

o
Desien @ Gr e osem wih e oLTE
) K b et the o
s .
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